

 SHAPE  \* MERGEFORMAT 



 SHAPE  \* MERGEFORMAT 



[image: image6.png]JP (GIERY)




 SHAPE  \* MERGEFORMAT 



 SHAPE  \* MERGEFORMAT 



 SHAPE  \* MERGEFORMAT 



【追記】

P.132 図4.81(a) A点におけるモーメントの向きを逆向きに変更

P.140 図4.104 BMDの値をＰｂに変更

P42:　[演習問題2.2]





修正：　SDE=166.7N(圧縮）





修正：S3=� QUOTE � ���


 　　　 =　� QUOTE � ���





P56:　[演習問題2.10]





修正：S3×a=� QUOTE � ���)P×a = � QUOTE � ���





修正：　S3=4.5P (圧縮）





P64:　[演習問題3.2]





修正：


� QUOTE � ���Cx =� QUOTE � ���=� QUOTE � ���=� QUOTE � ���





修正：　� QUOTE � ���





P53:　[演習問題2.8]





P73:　[演習問題3.6]





修正：� QUOTE � ���





修正：� QUOTE � ���





P76:　[演習問題3.7]





修正：� QUOTE � ���





修正：� QUOTE � ���





P107:　[演習問題4.5]
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P109:　[演習問題4.6]
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P118:　[演習問題4.10]
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P120:　[演習問題4.12]





修正：� QUOTE � ���





P125:　[演習問題4.15]





修正：� QUOTE � ���





P126:　[演習問題4.16]





修正：� QUOTE � ���





P133:　[演習問題4.18]
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P137:　[演習問題4.20]
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P139:　[演習問題4.21]





修正：� QUOTE � ���





P142:　[演習問題4.22]





修正：Pb
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P143:　[演習問題4.23]
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P145:　[演習問題4.23]





修正：100KN





P149:　表5.1





修正：� QUOTE � ���





P161:　 [演習問題5.6]
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P173:　 [演習問題5.11]
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P174:　 [演習問題5.11]





修正：� QUOTE � ���








[image: image7.png]JP (GIERY)




[image: image8.png]P (FH)



[image: image9.png]P (FH)



[image: image10.png]15

-3



[image: image11.png]15

-3



[image: image12.png]


[image: image13.png]


[image: image14.png]


[image: image15.png]


[image: image16.png]Scos 6



[image: image17.png]Scos 6



[image: image18.png]5in®

X cos @



[image: image19.png]5in®

X cos @



[image: image20.png]P X cot®



[image: image21.png]P X cot®



[image: image22.png]P cot®



[image: image23.png]P cot®



[image: image24.png](1) Sap — 5Sap = 0



[image: image25.png](1) Sap — 5Sap = 0



[image: image26.png]Sgp = 2P (51381)



[image: image27.png]Sgp = 2P (51381)



[image: image28.png](1) Sap — 5Sap = 0



[image: image29.png](1) Sap — 5Sap = 0



[image: image30.png]Sep = 2wa



[image: image31.png]Sep = 2wa



[image: image32.png]


[image: image33.png]Wy



[image: image34.png]Wol?

93



[image: image35.png]e xxdx+ S =0

M) -



[image: image36.png]


[image: image37.png]2P



[image: image38.png]2P



[image: image39.png]


[image: image40.png]


[image: image41.png]3wl



[image: image42.png]3wl



[image: image43.png]


[image: image44.png]


[image: image45.png]


[image: image46.png]Pb



[image: image47.png]Pb



[image: image48.png]


[image: image49.png]


[image: image50.png]e
-



[image: image51.png]e
-



[image: image52.png]_Pa
= TaE1

(EmE)



[image: image53.png]Pa?

5p =0 X2a="12x2a

14E1

Pa?

7EI



[image: image54.png]Pa?

5p =0 X2a="12x2a

14E1

Pa?

7EI



[image: image55.png]=0yx2a——

Pa’
14E1

a a

c }l A
[
¢
Ma=2Pa
f 7

SFD

h
B r——Pg
H . 7
®5.49 TH7L—24D
SFD & BMD

bra’
X2
=T I‘I‘?i)




[image: image56.png]®4.118 SFD & BMD



[image: image57.png]L

() Z20
8 4
* &

> o | a
o 261 B
T ot 4

z E




[image: image58.png]SFD

5.23 SFD & BMD



[image: image59.png](3) [M5.49%h

7(2[’71?)0’ _]
KT 7 14EI 7 i)
(4) CoOmES (3) LR 3 /41;1 e (2)

(i) =

BNy

Lo TEpid



[image: image60.png]: 760N\/

BMD i L

O ——————t0
¥ X =600 N-m

[14.96 b CKBD @ SFD & BMD



[image: image61.png]Py

T

B4.101 FiHi1kBD
Aok sEEI



[image: image62.png]P —



[image: image63.png]I-ZM.III SFD k BMD



[image: image64.png]B

®4.113 #HHEOEH%E



[image: image65.png]200 kN
200 kN

4.114 O E Hk



[image: image66.png]SFD & BMD

X4.49



[image: image67.png]


[image: image68.png]—%PI:

B4.68 5o d %131 o SFD & BMD



[image: image69.png]M(x) )
"t
- e

NOR

(b) HB2OHH#ExT
B L 7= E ik



[image: image70.png][4.83 Er&&EiE) O SFD & BMD



[image: image71.png]1
(—) Es,w -2P =0

1
) SAR ‘_SAD =0
< S

Ep
Suw=2V2ZP (E) S, =2P (3I3Y)

~——



[image: image72.png]1
=) ESAI) —2wa=0

1
(1) SAB_ESAD =0

/\/\’_\/\/ —
EXED

S,p =2V2wa S.p =2wa



[image: image73.png]


[image: image74.png]M(x)- I:%-xxzdr=0
EXEDY

M(x)= —_3—17" 2



[image: image75.png]


[image: image76.png]DEI, MAKE S/ Sap. SacPMEH LT BHiADICEHT 2L, #i
HMDIZPVTIIE2.12 DRETH 205, NOFEVREKRDL ) 12% 5,

4 4 4
=) —gx250+55,,,;+gx83.3 =0

3 3 3
(1) —2x250-=x 8334285+ §= 0

£oT, Spp=116.7N (H#f). Scp =100N (HE#) 2*KF 5.
DXL, HIMCIKEREYSE, R2.130RETHLH5, DO

i ——————



[image: image77.png]G axS_,+§axP=0
Lo TkAD»HZENG,

S=-2pP (Em)y



[image: image78.png]E S;xa —ng&z +Px2a + Pxa =0

-
SRxa = (%_ZJPX(Z = IElan



[image: image79.png]=3P GERD. S,=4P GERD. S,=55P (Ef). S=4P (£



[image: image80.png]xcosB = PxcosO
N0

(1) € =P-Ssind = P-—Lxsing =0
v sinf

IALOHREEBABIIRT. §=0TS—»okkd




[image: image81.png]-=133.3N (5l3&D),

133.3N (FE#i),
116.7N (FEA#),

Sap = 83.3N (5l5&Y)
SBD = 250N (J:Eﬁﬁ)



